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(C)  Read the information supplied and answer the questions which follow.

Ben Caffrey is a manager at Fun-Go Holidays Ltd and earns a gross annual salary of €55,000.
His employer provides him with a holiday voucher worth €5,000. This is treated as income

for tax purposes and is taxed accordingly.

Ben'’s tax information is shown in the following table.

PAYE

20% on the first €34,550 40% on the balance of his gross income.
Tax Credits.

Single Person Tax Credit €1,650 | PAYE Tax Cred t €1,650 | Dependent Relative Tax Credit €70
usc

0.5% on the first €12,012 2% onthe next €7,360 | 4.75% on the balance of his gross

Ben pays employee PRSI at 4% of

is gross income.

Calculate each of the following (show your workings):
(i) The PAYE which Ben has to pay (0]
(i) The total amount of USC (v}

The total amount of PRSI
Ben's net annual take-home pay.
(20 marks)
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Question

Detail:

Marks subtotal:

(ii)

Gross Salary

Voucher

Taxable Income

Pay As You Earn

34,550 x 0.20

25,4500 x0.40

Tax Credits

PAYE

Single Person

Dependent Relative

(2 marks)

PAYE Ben has to Pay

Universal Social Charge

12,012 x 0.005 60.06©
7,360x0.02 147200
40,628 ©x0.0475 1920.330

(8 marks)





image3.png
usc (7 marks)

Pay Related Social Insurance
60,000 x0.04

PRSI

Net Annual Take home pay
Gross Pay Annual Net Pay.
PAYE 13,720
usc 2137.09
PRSI 2,400 (18257.09)
Net Annual Take home Pay 35[742.919 (2 marks)

41,742.91 (1] only other figure accepted

Own Figures highlighted above





